N = 0l & AF S H Al A
20239 =& 2 3 LB FEF=sH
2A: 3=
I =Y AeAM(sElgsd/ s - s5)
ool dEtdsg Al (CH2]: ®M2)
S - BB 9(S) - HRAKY - BES ol &k ol & o mE=T
ZEF s 37,907,465 37,088,024 819,441
= 1,961,746 1,951,073 10,673
J| 20,841,910 21,255,085 A413,175
== 2,467,949 2,020,951 446,998
Al 11,815,310 11,040,365 774,945
= 820,550 820,550 0
= ASAG (sl =52 - 55) 766,380 840,185 AT73,805
= 57,014 57,014 0
J| 34,953 34,953 0
< 91,272 91,272 0
Al 583, 141 656,946 AT73,805
sy A 766,380 840,185 AT73,805
= 57,014 57,014 0
J| 34,958 34,953 0
== 91,272 91,272 0
Al 583, 141 656,946 AT73,805
=g SEAY 364,635 438,440 AT73,805
301 EtEEZ 135,027 182,400 AN47,373
14 JIEtE&Z 135,027 182,400 A47,373
Ot ZAl RSHZOIZTA XIHT| 2 (TN AR2))
A 626,620 627 48,000 A47,373
402 QIZERHE0|A 35,568 62,000 N26,432
01 RIZFXHE A B2 (KEHITHE) 35,568 62,000 N26,432
OGF=HNEMHE MetCHR| &letd s XI&
(TISHREOH AL2LY) AX 8,567,160 8,568 35,000 126,432
ASEMA DB RN (SRS A s - 5&) 26,468,641 26,538, 182 A69,541
= 1,479,732 1,469,059 10,673
J| 19,487,732 19,918,732 431,000
< 1,140,420 712,796 427,624
Al 4,189,257 4,266,095 AT76,838
= 171,500 171,500 0
AlZEMA X 26,468,641 26,538, 182 A69,541
= 1,479,732 1,469,059 10,673
J| 19,487,732 19,918,732 431,000
< 1,140,420 712,796 427,624
Al 4,189,257 4,266,095 AT76,838
= 171,500 171,500 0
(D)ELIMEH XA 989,643 1,017,684 A28,041
= 720,286 709,613 10,673
== 53,874 63,750 9,876
Al 215,483 244,321 28,838
402 CIZHRHE0|A 989,643 1,017,684 A28,041
= 720,286 709,613 10,673




2A: ZEd=sS
T ASMA DB RS (SN Y - &)
CHel: A T3 (CHo|: M)
SN B SL(3) - HRAY - BES Ol ol & o {TmE=T}
= 53,874 63,750 29,876
Al 215,483 244,321 128,838
02 CIZEXI= AL B (0| M THS) 989,643 1,017,684 228,041
OE2MEH K& A
2 989,643,000 989,643 1,017,684 28,041
= 720,286 709,613 10,673
== 53,874 63,750 29,876
Al 215,483 244,321 128,838
(D)) =283USHATNES 19,367,000 19,798,000 A431,000
J| 19,367,000 19,798,000 A431,000
301 LEt2d= 19,367,000 19,798,000 A431,000
J| 19,367,000 19,798,000 A431,000
14 JIEtE&E 19,367,000 19,798,000 A431,000
OJ|2g3dsSIAEXENM
Z3A 19,367,000,0002 19,367,000 19,798,000 A431,000
J| 19,367,000 19,798,000 A431,000
AlZMA 2R 80,449 20,449 60,000
307 212t01& 60,000 0 60,000
04 QIZFSHAIAIE E X 60,000 0 60,000
Od= HANY=s U3 HEAXNA(EEE FH)
60,000, 00024 *14] 60,000 0 60,000
AlStMAL SEHALY 607,385 675,385 68,000
301 LEt2d= 132,000 200,000 68,000
14 JIEIE 43 132,000 200,000 68,000
=EIEE THHH K12 (DT A2
2 2,000,000 *66ha 132,000 200,000 268,000
sgE R0188)| E28 XJAY 10,000 50,000 240,000
402 QI2tXtE0|A 10,000 50,000 240,000
01 QI X2 AL B (KFHITH) 10,000 50,000 40,000
O=g8 ROUsBI| SE2EXAAIS (T EHRH A2t
Z2& 20,000,000 *1CH*50/100 10,000 50,000 240,000
(Z)68 =&=2 LTSN 365,400 0 365,400
== 365,400 0 365,400
302 Ol M2 a2 365,400 0 365,400
< 365,400 0 365,400
02 QIRICIMHHY =R ES24Z 365,400 0 365,400
Opg s&= EHo S2X(0YHl Y
ZLLYH AS) 365,400,002 365,400 0 365,400
== 365,400 0 365,400
(2)4-68 OlD|2 s&ESTo=sIt SEXR 72,100 0 72,100
== 72,100 0 72,100
301 LEt2d= 72,100 0 72,100
< 72,100 0 72,100
14 JIEtE&Z 72,100 0 72,100




2A: ZEd=sS
T AMSMA DB Y (sEYA/ s - &)
Bl Algtda T2 CEEEN
SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
O4-68 0la)|2 SEXI2(0EIY] € =ZHEA
AE) 72,100,000 x4l 72,100 0 72,100
== 72,100 0 72,100
202 Iz (sildsil/ s - 5&) 5,988,380 5,912,130 76,250
= 425,000 425,000 0
J| 1,156,100 1,142,000 14,100
< 775,598 756,953 18,645
Al 3,282,632 3,239,127 43,505
= 349,050 349,050 0
=B WA L5t 5,736,780 5,660,530 76,250
= 425,000 425,000 0
J| 1,156,100 1,142,000 14,100
< 775,598 756,953 18,645
Al 3,031,032 2,987,527 43,505
= 349,050 349,050 0
(D) D==MAAESHONGH X2 1,295,250 1,275,000 20,250
J| 518,100 510,000 8,100
== 233,145 229,500 3,645
Al 544,005 535,500 8,505
402 RIZHXHE01H 1,295,250 1,275,000 20,250
J| 518,100 510,000 8,100
< 233,145 229,500 3,645
Al 544,005 535,500 8,505
02 CIZEXHEAIH 2 (0| X THEA) 1,295,250 1,275,000 20,250
Ot=1NEZ AESUSIAIY
2A 1,295,250,000 1,295,250 1,275,000 20,250
J| 518,100 510,000 8,100
< 233,145 229,500 3,645
Al 544,005 535,500 8,505
(2)FTAXIE A8 2 2eldl XA 6,000 0 6,000
J| 6,000 0 6,000
201 et 3| 6,000 0 6,000
J| 6,000 0 6,000
01 AtR22lt| 6,000 0 6,000
OFTAM A=l =8 & 2eld] XI~
6,000,000 *1A! 6,000 0 6,000
J| 6,000 0 6,000
(S)ME/AAD AIEZH2| 00 KI& 484,400 434,400 50,000
== 145,320 130,320 15,000
Al 339,080 304,080 35,000
307 212t01& 484,400 434,400 50,000
< 145,320 130,320 15,000
Al 339,080 304,080 35,000
02 SIHBAANHEE 484,400 434,400 50,000




SN AEAsLD
A JAUXN2 I (sSlYsd/ =Y - &)
£Helr dtesHIWH At (Crol: X 21)
2A - HH - H(SH) - MRAIY - BES Of] &K J &3 o Hws2t
OXNERIAtL AlEAC| 201X
23X 10,00021%96, 8804 K50/ 100 484,400 434,400 50,000
(= 145,320 130,320 15,000
Al 339,080 304,080 35,000
SIHEZ MAD|E XY (sHlYrd/sY - &) 3,691,779 3,682,624 9,155
bl 163,125 159,400 3,725
[= 460,659 459,930 729
Al 2,767,995 2,763,294 4,701
= 300,000 300,000 0
SIIES Mat 2,735,975 2,726,820 9,155
bl 163,125 159,400 3,725
(= 460,659 459,930 729
Al 1,812,191 1,807,490 4,701
= 300,000 300,000 0
A o |4 501,600 498,600 3,000
402 QI2ERF=0IA 501,600 498,600 3,000
01 QI X2 A B (RHAITHS) 501,600 498,600 3,000
OMAXE 2L IZXI(ZES 50%)
A 100,0002%1,0802+50% 563,000 50,000 3,000
(Z)AIZJ020FHCTSEE XS 4,455 0 4,455
bl 2,025 0 2,025
[= 729 0 729
Al 1,701 0 1,701
402 QI2ERF=0IA 4,455 0 4,455
bl 2,025 0 2,025
[= 729 0 729
Al 1,701 0 1,701
02 QIZH XA B X (0| A THS) 4,455 0 4,455
OADIEEICTESSEERHAIEER)
8,100,000 141 %55% 4,4%5 0 4,455
bl 2,025 0 2,025
[= 729 0 729
Al 1,701 0 1,701
(2IFTALIGHE X R EAIY SHAY| 1,700 0 1,700
bl 1,700 0 1,700
201 LEH2HH 1,700 0 1,700
bl 1,700 0 1,700
01 Al22t2IH| 1,700 0 1,700
OFTATIBH2 & A 2 Al S|
1,700,000 14! 1,700 0 1,700
bl 1,700 0 1,700
Heas(2adsgn) (sgidsb/s2 - &) 898,981 21,599 877,382
RSPNES 898,981 21,599 877,382
SFSINES 898,981 21,599 877,382




2N TEF=sZ
A HLRES(REEsY)) (sl s - s5)
A RS N (Ctol:®2l)
SA BB SR(E) - HRAY - BES Ofl kot J| & o HimE2
802 Btet=2D|EL 898,981 21,599 877,382
01 2NEx3eEz2 650,010 4,133 645,877
Q0223 = 648,091 4,133 643,958
—SINSHAXIHAI AL
2,296, 1903+ 14 2,297 0 2,297
—SRI|sL XX AL (01X}
4, 710&x 14 S S
— e SHAF K= 310Rx1 Al 1 1
—UMRREFSASKIR A EH AL
9,530& 14! 10 0 10
— UM RSA S AS XA A (01K}
75,610&*14] 76 0 76
—2J|&d|lz It QAR XIR AL
585,607,900 1Al 585,608 0 585,608
—2J|2HIZ JIAQIAXIHXIZAIS (O}
762,080 3A* 14| 763 0 763
—MEH B =2 22/us ESXA(0IX)
1,690 14! 2 0 2
—NFHIDHE THEHAIE XA
1,310,000 &% 14| 1,310 0 1,310
—0H|DOH! THEHAIE XI (01X
7,4103A%14] 8 0 8
—NEAMNSSSNSIAIG (BEAEINE L)
21,567, 1302+14] 21,568 0 21,568
—NEAMSSESSIAIL (EXIAIZINE2) (01 A})
2,320 A40R 1Al 2,323 0 2,328
—SEXS(QIA)MAA LSS KA
27,985,000 * 1Al 27,985 0 27,985
—E2NEH KIRAIS
1,978,600 % 14! 1,979 0 1,979
—EQMNH KR AFZ (01X
2,600 14! 3 3
0213 &= 37 37
— = NEEAESEUSIAIZ (01 R
36,4143x14] 37 37
02020 &= 42 42
— = NEEAESEUSIAIZ (01 R
41,957 @14 42 42
020199 &= 1,840 1,840
=== NEEASSUSAIE (012)
1,839,500 *14] 1,840 0 1,840
02 Al - EHIBZXZ3EtE= 248,971 17,466 231,505
Q2022 &= 247,732 17,466 230,266
— LI SHAXIHAI AL
1,033,340 * 14| 1,034 0 1,034
— R =sLAM K2 AFL (OIXH)
2, 1202 %14l 3 0 3




2A:
X{XH -
o /e

cH):

detdsgt
HRas(Zadsgn) (sgidst/se - s&)
SIS

2AM -3 . S2(3H) - MRAEY - BES 01| AtoH J| X o Hns2t
— AR RIS H S MSTIRAIH ALY
2,860 14! 3 3
— AR RIS H S AMSTIR A AL (OIXH)
20,6004 % 14! 21 21
—F B P S AS0EZTH| XA
2,511,810 14l 2,512 2,512
— R EHSASOISZZEXH|XIK(0IX})
4,48024%14] 5 5
— B SHEFRA
1,334,310 14l 1,335 1.335
—FEH=HESXIK(0IX)
2,500 %141 3 3
—FEHSASTZ2E XN
343,380 %14l 344 344
—FlstAsA2m2 SRR (01X}
9014l 1 1
— B HSAXSE X2
7502 %1 Al 1 1
—RPCAI& & | K| AL
2,071,500 14l 2,072 2,072
—SJ|12HIE XIRA
16,635,240 %14l 16,636 16,636
—RI|IEHIZ KIKLAS (01X
62,9002 %1 Al 63 63
—2J|ZH|Z DI QIAXIH X 2 ALA
117,121, 6002 %1 Al 117,122 117,122
—2I|EHIZ JIQIAXIH X2 AL (O] XH)
152,410R%1 Al 153 153
—=A2 IGHYA ZE(2H)I| XA
486,000 %14l 486 486
—=X2 HIGHYKA ZE(ZHM)I| KR (0IXH)
1,3202%1 Al
—HS oM A X 5,730 %14l
— A OFMA| X (0IXH)
9RO * 14l 1 1
—eEe ZH(JIS)UIoH OILAIY X
126,000 %14l 126 126
—grate Zo(OI2)Tlo Ol2tAFY K= (01K
3, 1502 %1 Al 4 4
—HI XHHHAH 23 S| KR (OIX})
4,6902%14] 5 5
—HEN THHHEHX A XK (0l
10,8204 %14 11 11
—HRIE2 X|2IAFA (0| XF)
1,6002%1 4! 2 2
—A2 HHEHS O CHEsDIH KI(O0IAH
11, 1202I%1 Al 12 12
—H M=ot EEXIK(0IXH)
64,9604 %14 65 65




2A:
PSE
o /e

chel:

==

oo-

S (MBS (SPHYLN/ 5 - 55)
B

2AM -3 . S2(3H) - MRAEY - BES 04| AkoH Jl & o Hns2
—t 9 HE2(UFZ2) (01X
10,600 * 1Al 11 11
—MEA H =2 22|08 ESXK(0IX})
7202%1 Al 1 1
—NEQIAD AIZAC| 00K (OIXH)
8,6872%14! 9 9
—AMASETS Al22IH] X (0IXH)
21414l 1 1
—FTACHS CHAIDH HESH X
1,897,200 14! 1,898 1,898
—&IEA AVUESH KR
150,000 %1 Al 150 150
—DHA ZERYDEY| X (s224H21D0])
95,460 * 1Al % 9%
—AZNHZED|QIAMAAT x| XK (0IX})
53,989, 8502 %1 Al 53,990 53,990
—DZH|IJH THHHAIA X
590,000 * 14! 590 590
—0=HDH THHHAIZ X2 (OIXH
3,3352% 14l 4 4
—2ASEH=S SRS
5,931,000 14l 5,931 5,931
—0IERA - AT SAXK
150, 00021 %14l 150 150
—QIAl - AHOEALDY S M|
135,000 %1 Al 135 135
— 33| R e BRI
5,104,500 %14 5,105 5,105
—DEZNQSESANSIAIY (B RAIEIHES)
6,476, 13014l 6,477 6,477
—NEINSSSIMGIAIYE (T RAIZIHE ) (0K
696, 730 x 1Al 697 697
—SZSAS(QIA)MAALSUEIXIA
12,593, 25024 % 14! 12,594 12,594
—E2NZHl XIZ A
397,380 %14l 398 398
—EINSEH XA (OIKH)
540 1Al 1 1
00219 & 20 20
— = DEXAILEHHSAIZ (OIRE)
16,386 %14 17 17
—XNEQIAD AIZAR| 0K (012) (01X}
2,7022% 14!l 3 3
020208 & 1,219 1,219
— = DEXAILEHHSAIZ (OIRE)
18,881RIx14 19 19
—FTAUHS CHMIH 4 HESH XIS (AF20I”)
1,200,000 * 1Al 1,200 1,200




